Hg JR Replaces Ryan WG-24 Parts
S

Aerating Unit
Tine Holders

See Tine Selection

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




"Rg JR Replaces Ryan WG-24 Parts

Aerating Unit i
-( Tine Holders )
Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity
Overhaul Kits
1 R201300 Kit - 24 Tine Holder Assy 0 577.95

Detail Description: Includes all parts necessary to convert to 24 tine holders. 6 Tine Holders, 6
Washers, 2 Brackets, 1 Mounting Plate & 1 Turf Hold Down:

Belts
2 R548925 548925 Belt 1 24.95
Other Parts Available
4 R306835 2223815 Bolt - 3/8-16 x 1-1/2 12 1.05
5 R316796 316796 Bolt - Allen HD 1/4-20 x 1 12 0.41
6 R548181 548181 Washer - Lock 1/4 Hi Col 12 0.26
7 R203023 203023 Bolt - 1/4-20 x 3/4 6 0.51
9 R548811 548811 Pin - Dowel 6 1.65
10 R547293 547293 Retainer - w/Bearing 12 12.45
11 R544446 Retainer - Bearing Assy w/Pin 6 24.95

Detail Description: Includes 2 ea: R547293 & 1 ea: R548811:

12 R548797 548797 Bearing - Needle 12 7.25
13 R120177 120177 Washer - Lock 3/8 12 0.27
14 R517531 517531 Pin - Slide Assembly 6 4.55
15 R548869 548869 Bearing 6 33.50
16 R545643 22122213 Retainer - Spring (New Style) 6 21.45
17 R518503 518503 Spring 6 28.40
18 R548905 548905 Bolt - Nyloc 3/8-16 x 1 24 0.72

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




P ——

R&R
e

Replaces Ryan WG-24 Parts

Aerating Unit
Tine Holders
OEM

Qty Price Order
No Part No. Part No. Description Req Each Quantity
19 R517729 517729 Bushing - Guide Assembly 12 10.90
20 R544102 544102 Guide Assy 6 98.20
21 R522639 548254 Seal - Guide Assy 6 6.90
22 R522642 gggfé' Rod - Push New Style 6  59.05
23 R548252 Seal - Oil 12 8.05
Tech Note: Old Style Thin Seal:
23 R548274 548274 Seal - Oil 12 5.05
24 R544785 544785 Slide - Assy. 6 175.45

Detail Description: Includes: 2 each R520526 bushings, R548229 grease fittings & R548274 oil

seals:
25 R548827 548827 Bolt - Nyloc 1/4-20 x 1/2 6 0.45
26 R316797 316797 Bolt - 1/4-20 x 1-1/4 12 0.69
28 R550098 550098 ?_01'} . 50 HD Cap 5/16-18 6 0.70
29 R306325 306325 Washer - Lock 5/16 Hi Col 6 0.26
30 R548815 548815 Bearing 3 13.45
31 R548128 548128 Bearing 2 20.55
32 R520228 520228 Race - Inner 1 23.80
33 R548814 548814 Race - Inner 2 20.55
35 R517526 Bushing - 1-1/16 O.D. 12 7.95
35 R520526 520526 Bushing - Slide Assy 1 0.D. 12 9.65
521452, .
38 R521452 ca8888 Chain - No. 50 1 27.45
38 R546406 546406 Chain - No. 40 1 34.55

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




"Rg JR Replaces Ryan WG-24 Parts

Aerating Unit i

ItM Tine HO/%%ﬁ Qty Price Order

No Part No. Part No. Description Req Each Quantity
38 R546431 546431 Chain - No. 50 1 28.15
38 R546434 546434 Chain - No. 50 2 23.60
38 R546754 546754 Chain - No. 40 1 17.55
38 R548887 548887 Chain - No. 50 1 30.70
38 R548889 548889 Chain - No. 40 1 19.20
38 R548890 548890 Chain - No. 40 1 25.40
38 R548891 548891 Chain - No. 50 Crankshaft 2 37.60
38 R4000 Link - Offset Chain NO.40 0 2.55
40 R545104 545104 Deflector Kit 6 6.30
41 R548853 548853 Control - Throttle 1 19.75
42 R800427 800427 Bolt - Hex HD 5/16-18 x 2 6 0.70
43 R548911 548911 Nut - Flanged Whiz 6 0.54
44 R523249 523249 Washer - Tine Holder 6 1.90
47 R522636 522636 Bushing - New Style Slide 12 21.75

Detail Description: Triple Layered Composite:

48 R306959 306959 Plug - End of Shaft 6 0.70
49 R522640 522640 Seal - Triple Lip 12 5.35
51 R522641 522641 Plug - Felt 1 Dia. 6 2.15

Tech Note: not used on R&R Slide:

52

R517692 517692 Pad - Felt Slide Assy 12 1.85

Tech Note: not used on R&R Slide:

53

R548229 548229 Fitting - Grease 12 0.88

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




"Rg JR Replaces Ryan WG-24 Parts

Aerating Unit i
v( Tine Holders )
Item R&R OEM Qty Price Order
No Part No. Part No. Description Req Each Quantity
54 R201100 545978 Slide - Complete 6 185.75

Detail Description: Manufactured with triple layered composite bushings, this slide assembly
eliminates the need for lubrication and ensures against oil leakage on turf surfaces. Includes
triple-lipped seals and induction-hardened, chrome-plated shafts for added life.:

55 R524196 524196 Guard - Turf For Quad Tine 1 176.40

Detail Description: use only with 4 Tine Holders:

55 R201302 Guard - Turf For Quad 5/8 Tine 1 176.40

Detail Description: use with 4 Tine Holder with .625" Tines:

Plate - Mounting Turf Hold

56 R520326 520326 Down 1 65.40
57 R524014 524014 Bracket - Turf Hold Down 2 7.90
58 R330748 330748 Screw - 5/16-18x1 Socket HD 1 0.87
59 R800694 800694 Bolt - Hex HD 5/16-18 x 2-1/2 2 0.87
60 R122140 122140 Washer - Lock 5/16 Yellow Z 2 0.12
61 R520532 520532 Holder - Tine 5/8 Mt 6 51.05
61 R520573 520573 Holder - Tine 3/4 Mt 6 51.05
62 R547849 547849 Holder - 4 Tine 1/2 Mt 6 59.05
62 R201424 Holder - 4 Needle Tines 6 60.95
62 R201301 Holder - 4 Tine 5/8 Mt 6 59.05

All original equipment manufacturers names and part numbers are used for identification purposes only, and we
are in no way implying that our products are original equipment parts. Prices subject to change without notice.




